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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2011
Part - II

PHILOSOPHY — HONOURS
Paper - III

Duration : 4 Hours [ Maximum Marks : 100

Candidates are required to give their answers in their own words as far as practicable,

The figures in the margin indicate full marks.

Answer (Question No. 1 and any five from the rest.

> 7 2 9E W (I el ok Tgd fue |

1. Answer any five of the following questions : - SxH=2H

qieva @ o A g e e ¢
a) Who is the propounder of the ‘method of Universal doubt’ ? How does he

arrive at the first principle of his philosophy through this method ?

FiET AT siwfo-g g9w] (T ¢ TerEd B Hwlfer muw TR oy wice aew Aifsrs
ToA G 5 ? '

b) Who used the term ‘Tabula Rasa’ and in which context ? Explain the

significance of this term,

‘Tabula Rasa’ i (@ wa (W 2905 T390 FA0E 2 3ABI G i<y w7 |
c What is meant by ‘attributes’ and ‘modes’ in Spinoza's phiip_sophy ?

Fritaren v ‘ed’ w3z i’ 990 & @RI 2
d) What Iis meant by ‘Esse est percipi’ ? Does this principle lead to Solipsism ?

¥ 2erF gy’ — R 9 [ » 98 TSl & sreoriawm fs e ¢
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o} How does Leibniz distinguish between truths of reason and truths of fact ?
siizafie Eora N o) © e TCoR W Nl R ¢

f} "All ideas are innate.” Who said this ? How does he go beyond the views of his
predecessors regarding nnnate ideas ?
et ARG TS~ G4l (P W ¢ RO FO @ Rragn o7 APFIHE T wiewy
PR ¥ '

g) Is Hinne a sceptic 7 Give reasons for your answer,
58w s Hoqgaiit) ¢ sneiai SewR ‘SW‘EF?I% B 4

hy Give an account of the position ot; God in Berkeley‘s phiiosophy.
AR el R SRR SR s Rl B | |

1) Mention and explain the iaws of Association of ideas after Hume,
Rt wrpmel T ARIR S Touf SEd o i T |

j):  What, according to Kant, are the marks of a priori knowledge ? Give examples.
FHa oo Jeshe wivr e B R 2 Samgd W ]

Answer any five questions. 5x 15 =75

& A5 o Ses e |

2. a) What is the criterion of truth according to Descartes ? How does he érrive at

this criterion ? Is this criterion acceptable to you ?
rRICE WS SeTer Weve B ¢ O @7 Whvee Hora $ofe gem ¢ @ s
ST BPITR AT A ZH ¢

b) Discuss the importance of this criterion in Descartes’ philosophy. 10+ 5
@PIEq vt a8 Mameba sleo B ¢

.3. “Wh.ﬁtever is, Is in God, and nothing can exisi or be conceived without God.” What

does Spinoza mean by this statement ? How does he explain the existence of the

externtal world ? 10+ 5

2 Rg SRS, SR B WO U R T AR (Tl e iR G ok ettt TR e
7 0T 7 )7 AT IETER e P i e e ¢ [BR afeferen wieres F

frcaresy
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a) What are names of the three kinds of knowledge admitted by Spinoza ?
Poigare a6 Fige fon ot mReRR T 1 2

b} Discuss the nature of these kinds of knowiedge as enumerated by Spinoza

with suitable example. 3+ 12
Pt 99 Hige Bt aoiasl w0 Sos FRRSIE et 354 |

How does Locke distinguish beween the primary qualities and the secondary qualities

of substance ? How does Berkeley refute this view ? Explain critically. 8+ 7

FF GWCARA WA @6 @ (Tl ST WYy S (AR Feia ? AFCH G TS FYSIA TG A 7
ANEAGAILES FRACH6 36 |

On what grounds does Berkeley reject abstract ideas ? What is his own opinion

regarding general ideas ? Is Berkeley's view acceptable to you ? 10 +3 +2

ror fofere Qe OIS qigel YoF FEW AN @39l T ol Frea ot 1 2 adeT o
W& F| Dol TG LT T 29 ¢

How does Locke refute the theory of innate ideas ? How does he account for the

origin of knowledge ? 1I2+3
#F O HLITS Gy daq 3 2 B s Seom i nt fracs ¢

Describe the characteristics of Monads according to Leibniz. How many kinds of
Monad does he admit ? If the Monads are windowless, how is the relationship among

them established ? 8+4+3

AT T WP s (swmm ) Ryl wfal e | R w1 e ey’ ( Ww )
Aot e 2 wameler Tl srrdi 23, Sie St i eT (o gy oA 2

Show the difference between ‘Relations of Ideas” and ‘Matters of Facts’, as explained
by Hume. What is the basis of our knowledge regarding the Matters of Facts

according to Hume ? ‘ 10+ 5

fTOrR v SRS HIEe S HEE 938 BT THAl'F W Sty (wm | Bl s 3w €k
s st spicw SRS e
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10. a) Explain, after-Hume, the distinction between impressions an'd--'ideas_.. |
fEBR T SR 0TI TR GRAR AL I T |
b) What is the signiﬁcahce of this distinction in Hume's philosophy ? 10 +5
- foow T B AR o F 2

11. What is meant by ‘a priori judgement’, according to Kant ? What is the difference
between a priori analytic and a priori synthetic judgements ? Discuss, following Kant,

how/whether synthetic a priori judgements are possible ? _ 15

TS vfesimm SR’ Fece & IR ¢ oo s g3k sdehm e waameE
Al F) 2 FronR Aol T wRYRd W8 (3 WO T W ) — 067 TRe S
e |
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West Bengal State University
B.A./B.Sc./B.Com. .(Hono_urs. Major, General) Examinations, 2011
- Part - 11

PHILOSOPHY — HONOURS
Paper - IV

Duration : 4 Hours - [ Maximum Marks : 100

Candidates are required to give their-answers in their own words as _far as practicable.
The figures in the margin indicate full marks. |

Students will have to énswer any six guestions iaking two each from Groups A, B
and C and five short type questions taking from Group-D.

faeters, € «ag ot afeh cmgmwwﬁmmwﬁmﬁmmm | feio| (9% @ (@
“AfoT sicrg eitei $ea e 774 |

GROUP - A
e -2

1. a) Translate the following sentences into standard form of categorical
propositions : 4

e armafEns s srerar Facs wm weieEe o8
- ) All who are educated are not liberal.

e fifire i Sracwst 71 |

i) Only the virtuous are happy.
g AR A |

fif) None thinks the fools great but the fools thémselves.
(BT 3T} R A AR T (et R e el

v} 1do not cry unless [ am angry.
nfi % 1 H I |
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b)

<)

d)

b}

¢

‘What is obvel:'sion ? Why is it called an linmediate inference ? 3

Réa 71 W= ¢ RIS S Segsiv 961 50 @A 2

Give the contrapositive of each of the following sentences and state whether
the contrapositive proposition obtained from the given one is logically
equivalent to the given sentence : ' ' 2+2

ke Imefm 2B iR ot fin g ateR (wog S oo @ TREs
A5G 7 AN TS AR AK (eI el Fiart ¢

i) All students are patriots.

¥ 2 28 Frees |
i} Soldiers are he_ver coward.
it T Sig a7 | |
Are conversion by limitation and contraposition by limitation are valid ? 4

Mfire wrda ¢ A Tss & @y ¢
Following the traditional logic of the relation of opposition between propositions

explain and illustrate the rules of contrary opposition with example. Why are
the contrary oppositions of propositions not accepted in Boolean logic ? 2 + 3

sroieifes e Renm s IR REfor o Reifis Roafion frmef Sazasm
Y T | FA S 0 Feidre RKeafror Figw @ o o

Diistinguish, with examples, between the relation of contrary oppositions of
propositions and the relation of contradictory oppositions of propositions. 4

BAITENTE WO RS Raie! ¢ fws Ramiom T stk e 7 |

If ‘some philosophers are scientists’ is true then determine the truth value of

the following : _ 3x2
v ‘(i (i e 2 R’ s1e) 20 ore Wafils asaefim sropgen e = ¢
i) All philosophers are non-scientists,
7 weffor =8 S-RE |
if) All scientists are non-philosophers.
e il 28 s |
1) " Some scientists are not non-philosophers.
I (P R T S |
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3. Transform the following arguments into standard form of categorical syllogisms,
Mention their figure and mood and then prove their validity by Venn diagram

Ixil+1+3)

frafelie gReokns s St Faosrs T oM 91 | OIMR iewW ¢ S BmY ¥

(SbEa AW Yfeulm qus Bom o9 3
a) No men are nion-mortal. All kings are men. Therefore, some kings are mortal.

GBI ST ¥ S-ReRTIE | TR S 3T T § SRR, (BN (PN AT 55 T |

b) This syllogism is valid, for all invalid syllogisms commit on illicit process and
this argument commits no illicit process. '

a2 [ Tay, TR A Sty Hicw Wiy e 90, e 9B e @ wiey o

o
cl No snakes fly. Some snakes lay eggs. So some creatures that lay eggs do not
fly. o
(W THZ 97T T | W (W A TN AT | AR, FF (I G171 BN I, ikl ers
|
4. &  Whatis existential fallacy ? o 2

AEFD (AT I T 7

b) What is an enthymeme ? Give an example. S 3
AP R T A 7 9P TR U | |

c) Explain with the help of symbolic. aaﬁples. the difference hetween pure and

mixed hypothetical syllogism. - 4
AT Trizacs NS e @ wfia orlErs o AL Jip 35 |
d} Identify the forrri and test the validity of the following arguments : 3+3
R yfechm s Por o e tare) Rivi v ¢
i - If you believe this, then you are a fool.

You are a fool. Therefore, you believe this.
oft ofe waar et 399, ot g 94 |
oft 3¢ | TR, g el R 39 0
iiJ. The stranger is either a knavé or a fool. He is a knave.
Therefore, the stranger is not a fool.

SHIGRTS TW E MW @R | (T < AR | JSAR, SoESH QP A7
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6.

a)

bl

c)

a)

b)

GROUP - B
et -«

Distinguish between exclusive and non-exclusive “disjunction’ with the help of

examples. _ . 3

Grizzog Rrcam] ¢ i Se’-<gg #ide (vl |

- Deiermine whether the following propositional forms are tautology. self-

coniradictory or contingent by truth-table method : 2x2
) poipo(popii
5  (p>gl=(g>p)
SO TR ORI BARRSR Fomre), a1 woshian 7l eiwfes, ©f Fidi o ;
! poipos{popll
i) (poql=(g>p)
Test the validity of the following argument forms by truth-table method : 2 x 4
i) pP>q '
~q/ . p.q
i} (p2g).{gor)
~pV~q/'.'. ~qVr.
SrePTRAR N Feae G arpreRa el Ao e 3
) pog |
~q/ . p.g
#  (p>q).(g>T)
~pV~q/. ~qVr

Distinguish between a consistent truth-functional schema and valid truth-
functional schema. ' : 4

#% ruth-functional schema’ 43 194 ‘truth-functional schema'a 7] (A |

Determine the truth value of the following proposition by using the method of
resolution : _ 3

[{p2g)orls-~p
AFEI Ao Ty Faffis e wonEy R 3 ¢
f{poglorion-~p
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) Test the validity of the following argument by using the method of resolution : 4
(p2q).{ros}/ -~ [er):p(_qV.'s)
AgFa afox A FrRfeie Jfea el [or e ¢
(poq).{ros)/ - (pVr)o(gVs)

d) Determine, following the fell swoop method, whether 'p .. F implies

[{p.~q}V(r.~s)IV(g.sY). 4
SEpeATeH +IETS A TR R ‘p.r’,‘[(;&.-q}'v(r.—-s)]V(q.s)"ca
elfsime T [ | -

7. a) Explain with example the rule of universal generalization. 3
GuizaePR R AT eas) aft e I |

b) Construct formal proof of validity for the following arguments ( any three ) :
| 3x4
ﬂmq%@%awmmﬂmw‘( @ @ % ) 3
3 (RVS)o{(T U) |
~Ro( Vo~ V)
~T/ o =V

1i) Jones will come if she gets the message, provided that she is still
interested. Although she didn’t come, she is still interested. Therefore,
she did not get the message.

(o A <4afs AT IR F WITE, W A 9 REw aue O Wi AiE |
WS (TP T BIEEe @ [RAm gywe DR SEde Qg | o, D 439
ol

i} Any author is successful if and only if he is well read. All authors are-
intellectuals, Some authors are successful but not well read. Therefore
all intellectuals are authors. '

-(I (FFE 7P 20 A G @ T Fof oifes = | R iz I/ |
oy @D v g Hfew | SeR, Tee ISR F |

iv) (x)({Fx> Gx)

(Ax)(Fx.~Gx)/ -~ [3x)(Gx. ~ Fx)
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8.

10.

a)

6

Translate any two of the following sentences in symbolic form using.

. quantifiers, variables etc. : 1g 4+ 14

ET m—mﬂﬁmmvfﬁm% -2t T iy Arlioss el o) e §

i A book is interesting only if it is well-written.

P 32 wyig e T Temde =
ii} All members are both officers and gentlemen.
- AR S 6 SUE |
jii) If someone took the test, then Jack will {vork toﬁight.'
7K (G ATV (T, SO ETI WG A I A |
- iv) Gold rings are valuable ornaments.
5 e et 20 TR ST |
b) Determine the invalidity of the following arguments by the method of truth-
value assignment : ' 3x4
FEIE) SNCATS BT SIS Shaie] 53t ¢ |
)  Ss(T>oU)
Vo (W Q)
To{V. W)
~(T.X)/ . S=U
iﬂ (x)(Tx> Cx)
{x) (Rx> ~ Lx)
(3x)~{(TxVLx)/ = (3x)(Rx.~Cx,

i)’ Only lawyers and politicians are members. Some members are not
college graduates. Therefore, some lawyers are not college graduates.
www@@ﬁaaamﬁﬁwﬁw im@mmwwm :
BG4, (T (T W@%ﬁ’t TS WS 77

GROUP - C
R
Explain and illustrate the criteria for appraising analogical arguments. 15
o gfE EIRER oS [3rR A1 5 |

What is ‘cause’ according to Mill ? Critically discuss Mill's method of agreement.

3412

frem o, Factm o ?ﬁwwﬁﬂﬁ%wﬁmﬁmﬂw i
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11. Explain the conceptions of necessary condition and sufficienit condition. Is the
conception of cause as necessary-sufficient conditioni conflicts with the conception of

plurality of causes ? : ' ' 4+4+7
SR =S @ ~idie <icen Wl i T |quﬁww@%~ammﬁswqam
Hie wetesief 2 |

12.  Calculate the probability of the following cases ;. | o _ _ 3x5H
v crawfem srerre el 39 3 | | '
a) In drawing three cards in succession from a standard deck, what is the

probability of getting three hearts ?

c) 1f each card is replaced before the next draw.
i} If the cards are not replaced. |
=T witme SR TS (AT e o ot g i, Fomfd IR 2 T TS
PG 7

i A% 7S] O (ORI ! TS Al Wﬁ?ﬁm T TF |
ii) 1fn (o Bl fefata i (reat Ew

b) What is thc probabilily of getting at least one tail ‘and at most one tail in
3 tosses of a coin ? ' '

Gofb urce fovam RS Tae 0 139 €3 IS G319 (Be #TlT AT 9 2

c) In a book fair ihele are five similar entrances. Three friends have come fo visit
the bock fair. What is the probability of their entering the fair by the same
entrance ?

@&‘%Wﬁmvﬁﬁfﬁﬂﬁwmﬂﬂw?&ﬂ@ maicwarr.—mm{%—»m«q{m@
ety Tt Araeed STSIrs] F© 2

GROUP - D
Heie -w
13. Answer any five questions :
@R #At5t s T fwm 2 |
3 What is argument form ? Give an example. ' 2
If g & v Svrgzel fiw
b) Whal is meant byl‘conslructive dilemma’ ? 2
wdl) e I 10 A 2 |
c) -Wﬁ'atl do ybu mean by class-produets ? . I _ 2.
| e aoe & AR 2 |
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dj

e)

h)

i} -

»

Translate the following sentence into Boolean notations and then express them
in terms of Venn diagrams : : : 2

There are idle men.

e Tl gs Fis aom @ confbran siwes g T 3

TieT Wi WIiCE |
What is meant by ‘class’ ? 2
‘i’ qes B Ry e

What is null class ? Give one example of null class. - 2

TS (A i A ¢ {Eeré cafer @b Birgad R |

What is the converse of the obverse of the following sentence ? 2

Some flowers are not white.
Faferive Tt RafErea arfes a1 [ 2@ 2

oo & 1 7 |
State any one rule of validity of categorical syllogism that relies on the notion of
distribution of terms., : -2
FETors TR ReoR @ @S e Srad I, T AE YITSR Qa9 et ads
If p> g=F, then determine the truth value of the staterﬁcnt (pV~ploag.

| | 2

M pog=FaWO@ (pV~p)o q qmaba sepp) & o ¢

Which method of Mill may be applied in the following t:_ase ? ' 2
ABC abe
A+ BC ' a + hc
A-BC a-be

A is the cause of a or a is the eflect of A.

e owga Bier @ 216l s ag sieg ¢

ABC abc
A+ BC a+ bc
A-BC a- be

ATH 0% A1 A . 57 A 91 |
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